CEAN Prebinvinories

Sefs
— Aset is a cobleetion of objects.

X,

- {O,A)D)@D}? S= {02,345, S=Z.
— We wirile xe8 it X s ay ebement of §,
JL % is nef (v S, we write Xg§S.

< A< neeaunr A0S a&uMoﬁB . Jhat /s
I XGA e XeB o1 XA = )<€8 :
"/.”‘70/1‘65‘” (/A\”QZ'EB

,,'IjC Ac b a/ua(’ A+B theu A,‘5a/ars7>e/r Subrod

-rf Ach aund BeA |, then AP oA
(else A48

— Uniou o f A LB AUB:{X$‘XGA mxéB?,

- {x\ xeA er xeBY

e-r

— Tudersecion oé:A*(%-' AQB;{X:XGA aud X€B3

“Com"e{lz/mw# o_; A . A= fX; X¢A‘]
— Subtraction ;  AND = {x: x €A and Xf 8]
"A mines B
~ Productof A & B: AxB = {(4,5)2 aeh owd ‘683
- '
Examplesi W= {h23,4.,3 TR0
auhd LA E he the st of tven natwural #'s
aud et O be fuo sef of odd nakem0 #'s.



Thew NUE=N, ANE=E, TUD =N, @)
EOO= 9’-5 (EQ(O ate c?ﬁsoo—(w@ M)
Aboo:  E<N, O<N

ELO aud OLE 6/'.5./ E%O)

— More MMMSH
U A - A‘UA i()ﬂ}),UﬂA,Try

n Al = A, nAzn...j%Ma
L= A AT

e eentiel LI
= 1123, b s
A’*: I(”‘*— ) 2 3 4 62

A'; = { % /Ry ,.,‘3 }
uw frome ) (1eW)

721,!714 /4’/374'7,—5’4‘5'D ! o ‘,i‘:,,l,,
DoA=uA',4u/4u4u = A=V

n-; hec/V
/7 A, —nn/vm - A NA, N A, n ’ 1525
(M»J, S:uj, - we have meﬁﬁ ‘?."ke»n /776/4n

Pnel, buk 214 Amy = { e § )
— We will be working w/ R, aud dbredd o AR
I"e{/fﬁ{' /A( [ Xéﬁg X¢A'3 = L“’""’wa'g gdL_ N

\\
= Dg mor%a,u e Lowsg
(A f B’) A (—-L/'f)

(AUB) = AN



Frncdions @

Def i A fuuction frowc a set A o a cef B
s a rube  thodt assigns a &ingle elomens- of B
+o every element oL A,
,F A —p
for xeA, Lx)eh.
The domain of jf tef- A - fle ra,n,daye of £ rs
net- neeussarily 8, £ s fygg s y=Afx) Xr:—A-}

(-ﬂ/w nodien of qcz,md%ew tubler, fowrier, L"Aadw"kﬁ)
%\'FIM e fo ol e J@%‘r)ﬁ’o;_AJ

Exaucgle ;  ((Birichtet, 1549)

= 1 , D o IR
1007 18 5% & Rowge: §01]
E)(a,w.'p’le . A solte value chn&@w—w
x| = ) %, X=2o Y
| {_ X, X <D :,Baf,f;@n; ﬁ%gm)
Pm/‘o—e/rvl-ﬂ‘% 0; [%| : |

() [ab] = (alll & Va,beR

@) la+bl < fal+ [b] ¢ €~ e ~+riaugle me7uai’4'#7
[y Proof:  (wsing cases — by exhaustion )
First, Jack, a< [al, Iﬂ»oﬁf'—cﬁq i £ a>o, Hey
9 ¢ lal=a. T4 aco, theu a<p<lal.

Cﬁ*mvg l‘ueﬁu,.a,@i(rvg a<lal +o -4 W'fjﬁ
2 € l-al=lal [ we'll usethis Ka/te/r),




Vet , f abeR  If athro , thew (@)

(at+lbl= a+b <= |af + [b]. (o <lal, Ls;lol)
Ou tie otter haud HC 0+b €0, Huew
la+b| = ~(a+b)= —a-Lb < lal+h] aga

sk Completes e Fraoqf I3
Node: for abce® , [(a-bl=[@-+(-b|

= (a-c)+ (c-b)| € [a-cl+ e-bl =
g 1 e gy
‘ a_bl < la‘cl L (C"Dl (brj H;angs@, .rx7uc,.Crr:;/,\
Q——V—_—J | S S | L_,_,_,.,.._-—)
istauce olis tau e Adistance
fromateb  fromoatec  frem b el

Another proof erercise .

%@ o Twe real nuembers g zud b are e7ua-0
if e euly o teso [a-b[ <&

M' . (igﬁ aud wlg ?GC” (Gr)) meaees et
wee d 4o prove A statementy
() "7 a=b ,ten Vevo la-bl<E!
T-F a=b = Jg-bl=0 = ¥ero la-bl=0c&
(&) The couvetse statemewt:
"TE ¥eEwe a-bl<é€ =D a=4"
Proof by Contrasliction: we assieme aA+tb
then o, = la-bl >0 conflicts  with
the Wmvfﬂ'vem that la-L[ <E PEo ,ﬁmﬁ*/;}
la-b[ <€o aud la-bl= E, cannot both be

v /
+ %' a=b, aud <ue PTM,{ AN colnpleﬁe,m .

e Read on inductren, pp.lo=If



